F22-Exercise

Course in Semantics - Ling 531 / 731
McKenzie - University of Kansas

Rewrite the following assignment functions to fit the following modifications.

1 — Sam 1 — Meera o =
_ | 2 — Diane 12 = Jeyne
A= 13 & Cliff €1 3 - Missandrei
| 4 — Norm 4 — Lollys (The empty assign-
"1 Lorelai 1 - Emma ment. It has an empty
PN Rory 2 Charles domain, so the function
b= 3 — Sookie d= 3 — Rodolphe doefl?tmap anything to
4 - Luke 4 — Léon anything)
1. a2—>Rebecca — 2. al—)Diane, 2—Sam _
1 — Sam 1 — Diane
2 — Rebecca 2 — Sam
3 — Cliff 3 — Cliff
4 — Norm 4 — Norm
3, pd—Paris 4. CSHNymeria —
1 — Lorelai
2 — Rory
3 — Sookie
4 — Luke
5 — Paris
5. d5—>Berthe — 6. a1—>><



7. gl—Doyle, 2—Paris _ 8. ¢l—Orange _

9. bl7x = 10. a'™X
11. dl—e 2—c 31 4-1 12. ¢3—Osha —
13. b[lﬁxlz_>Z — 14. d[4%]ustin]4_’Lheureux

This one involves modifying an assignment
that’s already been modified!



